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ASSISTANT DIRECTOR (HK) IN THE DEPARTMENT OF ECONOMIC AND STATISTICS

Examination held on 06-09-2023 (FN)
General Paper (Paper - 1) (Subject Code: 547)

KEY CHART
Question Booklet Series - 'C'

Total Marks : 300 3 Marks for each question
Question Key Question Key Question Key Question Key
Number Answer Number Answer | Number Answer Number Answer

1 1 26 2 51 3 76 2
2 3 27 4 52 2 77 3
3 2 28 1 53 1 78 1
4 1 29 4 54 2 79 3
5 1 30 3 55 1 80 2
6 4 31 3 56 3 81 2
7 1 32 1 57 1 82 1
8 3 33 3 58 1 83 2
9 4 34 2 59 1 84 2
10 2 35 1 60 4 85 4
11 1 36 4 61 4 86 1
12 1 37 2 62 2 87 3
13 2 38 1 63 1 88 2
14 2 39 3 64 1 89 1
15 1 40 1 65 2 90 1
16 2 41 1 66 4 91 2
17 1 42 1 67 3 92 3
18 1 43 2 68 2 93 1
19 3 44 3 69 1 94 2
20 2 45 2 70 3 95 3
21 2 46 4 71 2 96 1
22 1 47 2 72 3 97 1
23 4 48 1 73 2 98 2
24 1 49 2 74 3 99 1
25 1 50 2 75 2 100 3

Note: Every question for which wrong answer has been given by the candidate, % th (0.25) of the
marks assigned for that question will be deducted.

Sd/-
Controller of Examination
Karnataka Public Service Commission
Bengaluru.
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547

Which Amendment Act of the Ingiap
Constitution reduced the voting age from
21 to 18 years ?

1) 615t Constitutional (Amendment)
Act, 1989

@) 65 Constitutional (Amendment)
Act, 1989

@3) 62 Constitutional (Amendment)
Act, 1988

4) 63™ Constitutional (Amendment)
Act, 1988

Which of the following Article says, ‘No
child below the age of 14 years shall be
employed to work in any factory, or mine,

or engaged in any other hazardous
employment’ ?

(1) Article 45

(2) Article 330

(8) Article 24

(4) Article 368

Under which Article of tile Indian

Constitution is agricultural ~Income

expressed ?

(1) Article 366(7)
(2) Article 366(1)
(3) Article 366(18)
(4) Article 366(20)

(3-C)

waiver of fundamental rights was
observed in which case ?

(6)) Basheshar Nath v. CIT

(2
(€))
“4)

Charu Khuranav. Union of India
Balammal V. State of Madras
Saurabh Chaudri v. Union of India

Match List I with List IT :

List I ListIT

The validity of I Shakti Vahini v.
Aadhaar Act Union of India

B. Honour Killing II. B.K. Pavitrav.
Union of India

C. Reservations I11. Unni Krishnan v.

in Promotion Andhra Pradesh
D. Rightto IV. Justice K.S.
Education Puttaswamy
(Retd) v. Union of
India

Choose the correct answer from the

options given below :

A B cC D
m v I I Il
(2 I 1 I v
@ v m 1 I

4 I I\ mr I
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6. Which Part of the Indian COnBtitlltion

7.

547

deals with special provisions relating t,

certain classes ?
(1) Partll
(2) PartlIV
(3) PartVI

(4) PartXVI

Who among the following remarked that,

“The amending process, in fact, has

proved itself one of the most ably

conceived aspects of the Constitution” ?
(1) Granville Austin

(2) D.Conrad

(3) Elkins

(4) Melton

(5-C)

Match List I with List IT :

List I List IT

A. Shankari I. Unamendable
Prasad Singh Basic Structure
Deo v. Union

of India

B. Kesavananda II. Concurrent List
Bharati v.

State of Kerala

C. Fifth Schedule III. Scheduled Areas

D. Seventh IV. Inclusion of
Schedule Articles 31-A and
31-B

Choose the correct answer from the

options given below :

A B C D
1 Iv I II II1
2) I II v 1III

3 1Iv I Im 1

@ 1 II o Iv
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9. Match List I with List II - 10. Given below are two statements, one

List 1 List IT labelled as Assertion (A) and the other
A. Article371-A 1. India-Bangladesh labelled as Reason (R).

Agreement Assertion (A) :

B. Article356 II. Languagesofa Domicile in India is an essential

State requirement  for  acquiring Indian
C. Article345 III. Nagaland citizenship.
D. The IV. Failure of Reason (R) &
Constitution Constitutional
onstituion The term “Domicile” is not defined in the
(100th Machinery ,
Constitution.
Amendment)
Choose the correct answer from the
Act, 2015

options given below :

Choose the correct answer from the

(1) Both (A) and (R) are true and R is
options given below :

the correct explanation of (A)

A B C D
(2) Both (A) and (R) are true, but

Iv 1III
1) I I (R) is not the correct explanation of
2 IV 111 II I (A)
(3) 1II v I II (3) (A)is true, but (R) is false
(4) III IV II I (4) (A)is false, but (R) is true

547 (T=€)
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11. The Golden Quadrilateral Project :
connects which of the following citieg 4.
through highways ?

(1) Delhi, Mumbai, Kolkata and
Chennai

(2) Mumbai, Pune, Chennai gpg
Bengaluru

(8) Delhi, Chandigarh, Jaipur and
Mumbai

(4) Kanpur, Patna Kolkata and
Guwahati

12. The policy of disinvestment of equity
capital of public enterprises is mainly
intended to
(1) Reduce the burden of budgetary

support to them.

(2) Convert them into  holding
companies. 15.

(3) Hand them over to private
entrepreneurs.

(4) Make them profit-earning
enterprises.

13. ‘Level playing field argument of|1g.
industries implies :

(1) MNCs to be stopped from investing
in India.

(2) Domestic industry to be treated at
par with MNCs.

(3) License for MNCs to be given
only in environment—friendly
technology.

(4) Domestic industries to be given
preference.

547 (9-C)

A 14'hFinance I Vijay Kelkar
: Commission
p, 13thFinance I  AM. Khusro
Commission
o 12th Finance III. Y.V.Reddy
Commission
p. 11" Finance IV. C.Rangarajan

Commission
Choose the correct answer from the
options given below :

A B C D
a I II nm 1v
2) I I v 1
@) IV III om I
4 1 II IV I

During the Delhi Sultanate ‘Khalisa’
meant :

(1) This land owned by the Sultan

(2) Jagir lands of military officers

(3) Inam land given to Muslim scholars
(4) Land owned by Hindu leaders

Consider  the following financial
institutions :

A. IFCI

B. UTI

C. 1IDBI

D. ICICI

Arr_ange them in a chronological order of
their coming into existence :

(1) B,C,D,A
(2) A,B,C,D
3 C,B,A,D
4 D,C,B,A
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of Public Sector Enterprises is :

(1) Oil India Ltd.

(2) Coal India Ltd.

(3) Power Grid Corporation of India

(4) Rashtriya Ispat Nigam Ltd.

Stagflation is a state of economy in which

the economic activity is :

(1) Slowing down, but wages and prices

continue to increase.

(2)

Increasing, but wages and prices

fall.

(3) Increasing, but wages as well as

prices also increase.

(4) Decreasing, but prices and wages

also decrease.

In India, highest employment elasticity is

found in which of the following sectors ?

(1) Transport

(2) Financial Services
(3) Construction

(4) Manufacturing

(11-C)

20.

21.

Match List I with List II and select the

correct answer -
List I List IT
(Committee)
A. Disinvestment 1. Raja Chelliah
in Public Sector
Enterprises
B. Industrial II. Omkar Goswami
Sickness
c. Tax Reforms  III. R.N. Malhotra
p. Reforms in IV. C.Rangarajan
Insurance
sector

Choose the correct answer from the
options given below :

A B C D
a I v 1o I
@ Iv I I I
@ IV 1 I I
4 I m v I

The reasons for a continuous decline in

the average size of land-holdings in India
are :

A.  Law of inheritance
B. Land reforms

C. Farm mechanisation
D. Desire to own land

Which of the above are correct ?

(1) A andB only
(2) AandD only
(3) CandD only
(4) B and Conly
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92. Match List I with List IT :

547

List 1

(Chairperson

of the

Commilttee)

Pandey

Wanchoo

1L,

B. Sivaraman III.

Dr.

Nanjundappa

List IT

(Main Objectipe of
the Committee)

Establishment of
Panchayat Raj
Institutions

To identify the
industrial
backward areas of
the country

Redress regional
imbalances and
reduce the
regional
deprivations in
Karnataka

. Financial and

economic
measures to
remove industrial
backwardness

Examine the
validity of the
various concepts
of backwardness
and recommend
the criteria by
which backward
areas should be
identified

Choose the correct answer from the
options given below :

(1)
(2)
(3)
(4)

A
II
I
IT
I

B
v
IV
vV
II

C
v
II
v
\Y

D
III
111

III

(13-C)

23. The major function of SEBI is

24.

25.

(1)

(2)

(3)

Advancing credit to investors.

Framing fiscal and monetary

policies.

Creating new stock markets.

(4) Regulating India’s securities
market.

Quad Group consists of :

(1) USA, India, Japan, Australia

(2)

(3)

4)

USA, England, India, Japan
Russia, Japan, India, China

India, Japan, England, France

Total stock of agricultural land resources

is:

(1)

(2)

3

4)

Net sown area + fallow + culturable

wasteland

Area under pasture + forests +

barren wasteland

Land put to non-agri uses + barren

wasteland + culturable wasteland

Fallow + forests
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DOFTmon  genZoRds R 3 0oz
PNV :

(1) TE©Q)

(2) Do @)

3) 2 (5)

4) e8>(@6)

a+b+c=10 D ab + be + ca = 31 BTG,
a?+b?+c23 DR YT FoBLBED.

(1) 69

(2) 162
(3) 131

4) 38

ez om> 8 Gwds BE Do,
IFS Beg 290 TS a0R> Fos3ned
R ?

1) 11313

2) 1133R-13

@) -11a3)-13

4) RYTR e

(14-C)

29.

30.

31.

333 2393 & JReBD) (E3) 3
Roasa,3goN Songd & FIZa TR |
DABOIT
1) =2
2) 2=n
3 2
(4)

2,080 B3 WewRD.T 1, T 2 DN T 57
NS, BN 2w, RR3 T 220. T 1,
T 2 @3 T 5T O 4 : 8 12
BRREEOHS  weoBdR, R, |
Noad, ) ?
75

88

99
105

(1)
(2)
(3)
(4)

BOR)
SOdRCWATT, BTV 283, &s’uddg(

DTARENH CANBETAY

q
T 2400 Q0T SOTRVICOHNT. TG
4 JBFRH  DBon BRened PO
5080 Bd ATUHF R ST B3 T 100
O, BWRNS DR, IPFARD  Jry

muodod) ?

(1) 8
(2)

3) 12
4) 10
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exactly divisible by 7 but not by 3 2
1) Two (2)
@2 Four®

@) Five(5)

@) Six(6)

How many numbers from 11 to 5q
are

Ifa+b+c=10and ab + bc + ca =31

29. If circumference and area of a circle are

numerically equal, then the diameter is

equal to
1 w2
(2) 2n
3) 2
4 4

30. There are few coins of ¥ 1,¥ 2and ¥ 5in
a purse amounting to a total of T 220.

27.
find the value of a% + b? + ¢? The ratio of the ¥ 1, ¥ 2 and T b coins is
4 : 3 :2. Find the total number of coins in
(1) 69 the bag.
1) 75
2 162
(2) 88
(3 131
3) 99
4) 38 4) 105
31. Some students planned a trip. The total
98. Find the smallest two consecutive odd cost for food was estimated at < 2400.
Because 4 students failed to go, the cost of

positive

squares is 290.
(1) 1land 13
(2) 1land-13
(8) -11and-13

(4) None of the above
547

integers, the sum of whose

food per student has increased by
Z 100. How many students attended the

trip ?
1 8
2) 4

3) 12

@ 10
(15-C)
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pirections : The graph given beloyw répresengs

47 in earnin, ]
the yariations 1 £S In rupees Over q

etk Study the graph and answer Questiong
5 38 35.

rhe variations in earnings in Rupees over 3 week
700 psi——— "\ o m——
w pd N |35
w77 S
400 / \7%
of—7 e
20 —_—
-
0

Sy Monday Tuesday Wedwesday Thusday Friday Saturdey

39. The difference in earnings was largest
between :

36.
(1) Sunday-— Monday

(2) Tuesday — Wednesday
(8) Thursday — Friday

(4) None of these
317.

33. Highest earnings were on :
(1) Monday
(2) Wednesday

(3) Thursday

4)  Saturday
547 (17-C)

34, The average earnings per day during the

week was :
(1 T325

(2) T 400
3 <270
4) T 375

The money transactions between
Sunday — Monday and
Tuesday — Wednesday were :

(1) Unequal

(2) Equal

(83) More

(4) Less

Sampling is compulsory in the following
situation(s) :

(1) Blood test of a person

(2) When the population is infinite

(83) Testing life of dry battery cells

(4) All the above

If A and B are any two independent

events, which of the following is not
correct ?

(1) P(A|B) = P(A).
@) P(B|A)=PA).
3) P(B|A)=P(@®).

(4) P(A°B® =1-P(A)-P(B) + P(AB),
where A® denotes the
complementary event of A.
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9=0M08 Reemee Lboh. 8T8 ERDNS
a—

a - =)= <3
59, - :
(Srntelalorc w%&)m. TS =
BREPD. " ~
smf%mowr
1) Sz
(2) B2
3) D
4)  AJINYY cInRPTe |, 49.

2,000 JE3FS 233 15% BBIOONT. ToST
15% 3R [RBOONG. FRSaDO), B
3¢5

1) cdRFde FEyImromne

(2)  2:25% SIS

(3)  2:25% TR FRZOBRMOITI

(4) CORPTR 9

43.

A, B No8 33 &8 C Nod 8%, D, E Ao
8%, B 2300 E 99 2308 $xoreamon
D033 2BV GBS BOTIT 03RT ?
(1) B

(2)

A
3 D
4) E

(18-C)

B30, o |41, A soReryd T 300 NeR 2,083 d’o"’;{d

6 OINTO, SNBSS, =08 eI g,zl
AT IOVRLIA ) SeudnoR ©Te suﬁdw
4 OINGY, BONATT N@Q’Dﬁaﬁ

BRI e D @a’% ?

(1) <100
(2) <150
3) T50

4) <125

w0l BT, W0 DR, Wb
S0eeS, 7-5% T, Reednt T 555 § ST
SINBoND). TMREE 8 BRI
R0TEIeN IS :

(1) T 600

(2) <630

(3) T 5625

4) T625

AN @55;; Rowyd 3e. 5 dﬁm Seednt
QeBLD IFFOAT, FowTT DITORD, 9ZM)
d:af:dﬁgt WBSOEWY T 1,687-50 e.*)aig( oo
SRRG. 8 oD 2ot AGFOATY
75% SN3). [ Bows amp‘?
(1) ¥ 37,500
(2) ¥ 45,000
3) < 33,750

(4) aqﬁrcﬁ@?r{)aﬁmg
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Anu is older than Mgmta é:)%] is older
span Mamta, but younger than .
Kapil is younger than Ram and Mgy,
Mamta i older than Ram. Whoge —

etween Gopal and Ram ?
(1) Mamta

@) Kapil

3) Anu

4) None of these

price of a shirt is increased by

The
15% and then reduced by 15%. The final

price of the shirt :
(1) does not change
(2) increases by 2-25%
(3) decreases by 2:25%

(4) None of these

A is taller than B, but shorter than C. D
is shorter than E and E is not a tall as B.
Who should be in the middle if they stand
in a row according to their height ?

(1)
(2)

3)

H g » W

@)

(19-C)

41. A alone can com

43.

plete a piece of work of
300 in 6 days, but by engaging an
assistant the work is completed in 4 days.
Find the share to be given to the

?

assistant.
(1) <100
2) T150
@) <T50
@) T 125

An article is sold at a discount of 7:5% on
the marked price for X 555. Then its

marked price 18 :

(1) < 600

(2) <630

(8) T 5625

(4) T 625

Vaibhav decided to donate 5% of his
salary. On the day of the salary, he
changed his mind and donated
T 1,687-50, which was 75% of what he
had decided earlier. How much is his

salary ?

(1) <& 37,500
(2) T 45,000
3) T 33,750
(4) Cannot be determined
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(1)

(2)

3)

4)

R0 TeoFoREFTLD DOTT

(L

(2)

(3)

(4)
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47.

dor 838 J0F0T §R080 D3 2020 - 2095

8 evc3eBnsd
A. INR 5 g 806t8 CRIDON m@sm.&bﬂ

SPAFRITT-
B. 20 ©F I00 mdr%emdmdai

C. oardaon 3eswe 10 dm—-’% 3room
@,rféodoafxgt OZOR)T0.

D. 308nY ORI, BB 5 [ORNE,
SRTSe WFII), RBOZDIO.

BT BewFNFA), 03RRI /Qed) O ?
(1) A 93, FO3PNES

(2) AT B Bw3 J003RAT

(8) B &) C B3, 303N

4) A, B, C 033D b 3003

TPOIRGNRD 29 FBO, 2020 Fom
3 TWROBEEDY Rogeds 300 S|
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AT & L 003

(1) o0 :So:o;dm ROPEI
2) g3 NTEE Fogpeas
3) ez3 NZTBS Xopeas

4) d:dﬂraa%d NBTT Bogpesd




i The first African team to reach the

45.
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semi-finals of football’'s showecage event
FIFA World Cup held in Qatar in 2022

was

(1) Ghana

@) Croatia

(3) Morocco

(4) Senegal

Asset monetization means

(1) Selling the public sector

undertakings to the private sector.

A of

process creating
new/alternative sources of revenue
by unlocking the economic value of

underutilized public assets.

3) Selling of shares and debentures in

the open market for generating
revenue.

afforestation n

(4)  Promoting

9150 sq. km potentially available

in
forests to generate revenué

another 30 years.

(21=6)

46.

47.

The objectives of the Industrial Policy
2020 — 2025 of the Government of
Karnataka are

attract investments worth

A. To
INR 5 lakh crore.
B. To create employment opportunities

for 20 lakh people.
C. To maintain an industrial growth
rate of 10% per annum.
position in

D. To reach third

merchandise export in the next five

years.

Which of the above statements is/are

true ?

(1) Only Ais true

(2) Only A and B are true

(3) Only B and C are true

(4) A,B,CandD are true

The Prime Minister launched the FPO
Scheme on 29t February, 2020 as a form
of reforming agricultural marketing. Here
FPO stands for

(1) Food Processing Organisation

(2) Farmer Producer Organisation

(3) Food Producers Organisation

(4) Fertilizer Producers Organisation
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Government of
8 The of Karnatakg hes

49.
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introduced a Raitha Siri’ progray, o o
the farmers to grow

(1) Minor millets
@) Horticultural crops
3) Plantation crops

@) Vegetables and fruits

Asia’s largest Solar Park is situated in :

(1) Sindhanur taluk of Raichur district

(2) Pavagada taluk of Tumkur district

(3) Athani taluk of Belagavi district

(4) Padubidri taluk of Udupi district

As per the Government of India order,
every year the Government of Karnataka
purchases food-grains under Minimum
Support Price at the quantity and rate
fixed by the Government of India. Which
of the following foodgrains are purchased

under the MSP scheme ?

() Moong dal, Tur dal and Chana

(2)  Paddy, Ragi and Jowar

)  Wheat, Tur dal and Moong dal

S51. On

52.

4)  None of the above

(23-C)

December 19, 2022 around
190 countries adopted a goal called ‘30 by
30’ at the United Nations Biodiversity

Conference in Montreal, Canada with an
objective of :

(1) 30 targets to achieve by 2030.

(2) Insisting on 30 developing nations

to protect 30 vulnerable species.

(3) Pledging to protect 30% of the

world’s land and seas by 2030.

Limiting the global warming to
3-5°C by 2030.

4)

Consider the following statements :

A. Speed of sound increases with

increase in density of the medium.

B. Speed of sound increases with
of the

A el

increase in

medium.

C. Speed of sound increases with

increase in pressure of the medium.

Which of the above statements is/are

correct ?

(1) Aonly

(2) Bonly

3) A,BandC
(4) BothBandC
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), e All-India Service: can e Createq
by :
(1) A resolution of the Rajya Sabhg
@) Anact of Parliament
3) An order of the President
4) Aresolution of the UPSC
When was ISRO formed ?
(1) 15 August, 1947
@ 15" August, 1969
3) 15'h August, 1952

55.
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@) 15h August, 1967

When a soap film or oil film on water is
observed in daylight, it exhibits beautiful

colours due to :

(1) Interference
(2) Dispersion
(3)  Reflection
(4)  Refraction

(25-C)

56. When a 12 V battery is connected across

817.

an unknown resistor, a current of 2:0 A

flows in the circuit. The value of the

resistance of the resistor is :

1 249
2 12Q
3) 6Q

4) 0166Q

Consider the following statements :

Assertion (A) :

Red-green colour blindness occurs with

more frequency in males than in females.

Reason (R) :

Females have two X chromosomes and

males have one.

Choose the correct answer from the

options given below :

(1) Both (A) and (R) are true and (R) is

the correct explanation of (A)

Both (A) and (R) are true, but
(R) is not the correct explanation of

(A)

(2)

(3) (A)istrue, but (R) is false

(4) (A)is false, but (R) is true
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torsi der the following statementg -
Assertion (A :

Mangalore has high degree of average
temperature in the first week of J anuary,
whereas at Delhi the temperature will be
Jower than Mangalore at the same time,

Reason (R) .

X) Mangalore is experiencing maritime

(Z)

Choose the correct answer from the

options given below :

(1)

(2)

(3)

(4)

59.

climate and Delhi ig - having
continental climate.
Mangalore is located in the

Southern part of India, whereas
Delhi is in the Northern part of
India.

Mangalore is nearer to Western
Ghats, whereas Delhi is nearer to
Siwalik Range.

Assertion (A) and Reason (X) are
true and (X) is the correct Reason

for Assertion (A). 60.

Assertion (A) is true and all
Reasons (X) (Y) (Z) are correct.

Assertion (A) is wrong and all

Reasons (X) (Y) (Z) are correct:

ns
Assertion (A) is true and Reaso

(Y) (z) are the correct

ion (A)-
explanations of the Assertio®
’ (27-C)

and

Consider the following statements :

Assertion (A) :
The horizontal distance between the

contours varies from place to place.

Reason (R) :

The distribution of contours depends on
the patterns of land forms.

Choose the correct answer from the

options given below :

(1) Both Assertion (A) and Reason (R)
are true and Reason (R) is the correct
explanation of the Assertion (A).

Both Assertion (A) and Reason (R)
are true, but Reason (R) is not the

correct explanation of the Assertion
(A).

(2)

(3) Assertion (A) is true, but Reason (R)

is false.

Both Assertion (A) and Reason (R)
are false.

4)

Money Bill can be introduced in the State
Legislature with the prior consent of :

(1) the Speaker

(2) the President

(3) the Chief Minister
(4) the Governor
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List I

(Seismic

Waves)

Primary I
Waves

Secondary II.
Waves

Surface
Waves

II1.

Match List I with List 11 .

List I1

(Chamte?‘ia'tics)

Cannot traye]
through liquiq inil
travel at varying
speeds through the
solid part of the
Earth’s crust,

Travel at the same
speed in all the
layers of the interior
of the Earth.

Travel at fastest
speed through solid
materials. In liquid,
their speed will be
reduced.

They are also called
long period waves
with low frequency
and are responsible
for more
destruction.

Choose the correct answer from the
options given below :

(1)

(2)

@3)

4)
347

A B
I II
I II
II 111
I I

C

111

<

<

<

62. Match List I with List IT:

List 1 List I1
(Instruments) (Functions)
A. Theodolite I. Finds coordinates
of a place
B. Pocket II. Vertical
Stereoscope measurements of
objects
C. GPS III. Conversion of
Raster data into
Vector data
D. Alidade IV. Interpretation
of Aerial
Photographs
V. Viewing of objects

Choose the correct answer from the

options given below :

A B C D
(1 I III \Y% I
2 I v 1 \Y
3 II III v 1
4) IV II1 I A"

(29-C)
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Match List I with List II .

6% 65. Match List I with List I :

List I List I7

(Relief (Agents of ' List I1

Features) Denudation) List!
A Loess Plain I. Glacier (Land use Pattern) (Colour used
g. Cirque II. River in Toposheets)
C Bajada I11. Undergl'ound

water
p. Uvala IV. Sea waves A. Cultivated area 1. Blue
V. Wind

Choose the correct answer from the
options given below : B. Water features  II. White

A B C D

1) V 1 II III
; C. Sparse or no ITI. Brown
@ II I IV Vv _
vegetation
3 V v I II
@ m v I D. Elevation of land IV. Yellow

64. Match List I with List II :

List 1 List IT
(Map (Region/ Purpose) Choose the correct answer from the
Projection) options given below :

A. Cylindrical 1. Temperate zone

B. Mercator II. Equatorial region

C. Conical III. Polar A B C D

D. Zenithal IV. Navigation

1 Iv I o 1
Choose the correct answer from the

options given below : Q2 IV I o I
A B c D

() 11 I\ 1 0 (3 I 0 I v

2) 11 I v I

® m  u [ 4 m 1 o v

@) 111 v I I
(31-C)
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(D) ARHCng

2) ASRD Ing

(3) Cabd_gnmg

4) BaIRHC =g

DOOINF.

Eﬁcd%ab?)@:

(1) A 3B ROCHY

(2) B @RS I0O00Y,

(3) D SR 3000,

@) B S C 3000
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66 the incorrect statements -

347

with reference to the tropicq) cycloneg

find

I is a system of low—pressure

occurring in tropical latitudeg.

g. It is a centre of high preggyre
surrounded by low pressure,

¢. In Northern hemisphere, it blowg

in clockwise direction and in

Southern hemisphere it blows in

anti-clockwise direction.

D. They develop in the intertropical

convergence zZone.

Choose the answer from the options given

below :

(1) A and C are incorrect

(2) A andD are incorrect

@) Cand D are incorrect

4) B and C are incorrect
(33-C)

67. With reference to ocean currents, find the

incorrect pair :

Canary : Cold current which flows
along the Western coast of North

Africa.

Falkland : Cold current which flows

along the eastern coast of South

America.

Kuroshio : Warm ocean current

which flows along the east coast of

Japan.

Oyashio : Warm ocean current
which flows along the east coast of
Kamchatka.

Choose the answer from the options given

below :

(1)

(2)

3)

(4)

A and B are incorrect

Only B is incorrect

Only D is incorrect

B and C are incorrect
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68

69.

47

the clouds fi :
A;rw:e. ¢ FOTES Trom higher to 1oy
altitude - T

1

@)

3

4)

Noctilucent clouds,
clouds, Cirrus clouds,
clouds

Strat()cumu]us
Nimbosn'atus

Noctilucent clouds, Cirryg clo
Nimbostratus clouds, Stratg,
clouds

uds,
umulyg

Cirrus clouds, Noctilucent clouds
Stratocumulus clouds, Nimbostratus,
clouds

Nimbostratus clouds, Stratocumulyg

clouds, Noctilucent clouds, Cirryg
clouds

Read the two statements and choose the | /1"

correct option :

Statement I :

Varahi river originates near Guddekoppa-

in Hosanagara taluk of Shimoga district.

Statement II :

It forms Kunchikal falls before joining the

Arabian Sea.

(1) Both Statements I and II are true
and Statement II 1is related to
Statement I.

(2) Both Statements I and II are tfu:;
but Statement II is 1ot related
Statement II.

ent

3) Statement I is true; put Stater
I is false. :

4)  Both Statements are false.

(35-C )

70. The total number of National Highways

in Karnataka as on 31st December, 2021

was

(1) b4

2 35

(3) 45

(4) 55

Choose the correct descending order of
districts based on their geographical

area:

(1) Kalaburagi, Belagavi, Uttara

Kannada, Vijayapura and Tumakuru
Tumakuru,

(2) Belagavi, Kalaburagi,

Vijayapura and Uttara Kannada
(3) Belagavi, Tumakuru,
Uttara Kannada and Kalaburagi

Vijayapura,

(4) Belagavi, Kalaburagi, Uttara

Kannada, Vijayapura and Tumakuru




72 eI Wey 11 dodit FOBROOR 3. Ty I Be3 11 GedsS SRR -
T8 1 aed 1T
e
23
83 &3, 1T A (-(;?3 BeaEs) ; r(ﬁc:i)
q-'w TR CTOED i '
(w&’F&’&&JO’) chg;b) B. m'ﬁlﬁkﬁf@ II. z&gﬂ,c:brﬂr
C. wmenade, 1. evgd 333
= =223
A wengooons L HIWRRS D. BRghon, - =
- V. :3);53&@6’0
one
s 307 Deathn GuIogd, O HVITRTY
B. TIZ3oNF II. BREM 503 38 :
A B c D
C. 3oBNo II1. B0e0BRI @ v II m 1
2 v Vv m I
(3) II I m Vv
D. ?.552.03&'535 wone IV. epverale] (4) III Vv I 11
74. 038 @8TRBE, B3 NS ;f&sﬁr{#@i
V. 335;?)37{96?@& Sons3s
A oomgdecns  eRodd —B8ToUs
oD
2 397 DeATHS LUIoNYY o evgoRRy| B IRt BS0ZIDII RHO, Tus
(‘:303% [RR : Byod A‘%ﬁaﬁ
C. 123reY Tooo33 TS
A B C D e
D. RREDIY WRAT T TR0
L Vv I II 11 Wd)ojoaod S80RROR e
83371F ROOIRT TOTRIB)
@ v T I I ¥ S0 G 7
1) B,ADC
@ V IV I I @ C,ADB
v I 3 B{ D, & G
@ o I @ GCDAB
547 (36-C)



72. Match List I with Ligt 1.

List I List IT
(Mountain (Location—
Peaks) District)

A. Ballalarayana I. Chikkaballapura
Durga

B. Savandurga II. Kodagu

C. Chandragiri III. Tumakuru

D. Channarayana IV. Ramanagara
Durga

V. Chikkamagaluru

Choose the correct answer from the

options given below :

@ Vv I II III
2 IV 111 nm I
@) V v I I

78. Match List I with List IL:

List I List II
(wildlife (District)
Sanctuary)
A. Nugu 1. Gadag
B. Bukkapatna II. Chitradurga
C. Jogimatti I11. Uttara Kannada
D. Kappatagudda IV. Mysuru

V. Tumakuru

Choose the correct answer from the
options given below :
A B C D
1 Vv II m I
2 v v II I
@ I I Im v
(4) III v I II

74. Consider the following events in the
history of India :
A. Rise of Pratiharas under King Bhoja
B. Establishment of Pallava power
under Mahendravarman-I
C. Establishment of Parantaka chola-I
D. Pala dynasty founded by Gopala

What is the correct chronological order of
o Lt
the above events, starting from the

e

earliest time ?

(1) B,AD,C
2) C,AD,B
3) B,D,AC
4) C,D,AB

(376
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75

76.

77.

947

The Revolt of
period had g
background.

during Aurangzeb,s
DPeasant

(1) Rajputs

(2) Jats and Satnamig
(3) Marathas

(4) Sikhs

Arrange the following Indian states who

=
A. Marathas

B. Hyderabad

C. Awadh

D. Mysore

Choose the correct answer from the
options given below :

1) D,C,A,B

@ B,D,CA

3) B,D,AC

4) ABCD

Which one the following pair is not
correctly matched ?

agrarian

79.

(1) Itutmish — Invasion of Chengiz 81.
Khan

(2) Muhammad bin Tughluq — Invasion

of Tarmashirin
(3) Firoz Tughlaq - Invasion of Timur
(4) Muhammad Shah — Invasion of

Nadir Shah

(39-C)

78. Who founde

80.

d the ‘Servants of India

Society’ ?

(1) Gopal Krishna Gokhale
(2) Dadabhai Naoroji

(3) RajaRam Mohan Roy

(4) Mahatma Gandhi

What was the name of the Hyderabad

campaign operation conducted by the

Indian Army in 1948 ?
(1) Operation Shakti
(2) Operation Unity
(3) Operation Polo

(4) Operation Maitri

The remnants of a Buddhist Stupa of the

Satavahana period are found at

(1) Sannathi

(2) Kanaganahalli
(3) Gulbarga

(4) Rajaghatta

Who was the founder of the Deva Samaj
in 1887 ?

(1) Tulsiram
(2)
3)

(4)

Shiv Narayan Agnihotri
Ram Bajpai
H.N. Kunzru
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(40-C)

o RDeve].

86.

87.

88.

89.

‘FRoTURTT”

S3BR),
DoROTE, RS, WIRBD

NEYy

5

BT RS
O

FoRY”

(1)
(2)
3).

@ NI

BOFBIRITOC3IN BRI,

(1) 315—-400nm
(2)
3)
@)
NS oinm oo waRomow
wdesriod DT FOR LRI

< 280 nm

280 - 315 nm

> 280 nm

1) K
(2 r

@) N
4) A

THT][OHRE  IBRIY @l 1200°C A

0TI
1) w—%’ﬁmo
(2) em%%eﬁo

(8) DR

(4) docfsﬁraw




" The leader of Ekg Movernggy
mn

Pradesh was: Utta-l‘ 86. The term fhypervolume’ was used to
:n niche by
(1) Madari Pasi explain o
(1) Hutchinson
(2) Baba Ram Changrg
(2) Elton
(3) Gauri Sh :
ankar Misra @ Ken deigh
4) Govi
ovind Ballabh Pant 4) Gr anell
83. Flag Satyagraha in 1923 was held in 87. Ozone does mot effectively  filter
(1) Baroda UV radiation 2
1) 315—400nm
(2) Nagpur &
(2) <280nm
(3) Kolhapur
(3) 280-315nm
(4) Ahmedabad
(4) >280nm
84. Ecotone is a transitional zone between 88. Which of the following symbol expresses
(1) Biomes intrinsic rate of population growth ?
(2) Populations 1 K
(3) Communities 2 r
(4) Ecoregions @ N
4) A
85. Temperature inversion occurs at
89. Atmospheric temperature rises to 1200°C
(1) Troposphere in
(2) Mesosphere (1) Thermosphere
(3) Both (1) and (2) (2) Thermopause
(4) Stratopause,  Mesopause and (3) Troposphere
Tropopause (4) Mesosphere
(41-C)

547
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91.

92.

93.
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¥ The aquati .
limnetic zone is

91.

92.

93.

547

that laCkS 094.

(1)  Shallow pondg

(2) Lakes

(3) Oceans

(4) Both (1) and (2)

Albedo is the ratio of

(1) Absorbed to reflected short-wave | 95.
length

(2) Reflected to incoming short-wave
length

(3) Absorbed and incoming long-wave
length

(4) Reflected to incoming long-wave
length

In deep aquatic environments, the

euphotic zone extends from surface to

(1) 400m

(2) 600m

(8) 200m

(4) 1000 m

Thermal stratification occurs in

96.

lakes.
(1) Temperate
(2) Subtropical
(3) Tropical
(4) Tundra
(43-C)

At cgmpensation level, the rate of
photosynthBSiS ____ respiration in
aquatic environment.

1 >

2 =

3 <

(4) Both (2 and (3)

Consider the following :

A. Measuring  progress  on the

17th Sustainable Development Goal
B, 27th Annual Conference of the
Parties
C. Ocean Health

D. Biodiversity COP-15 (Part 2)

These pertain to :

(1) The European Union

(2) The Paris Agreement

(3) UN Highlevel Summits and
Conferences 2022

(4) None of these

Succession as replacement of one

community by the other till it attains a
climax was stated by :

(1) Kendeigh
(2) Hutchinson
(3) Cowles

(4) Clements
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L]
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i ; ot 11
~  pot related to Ashokg 2 Criptions are 99, Match List 1 with List 1
List 11
(1) Eran Inscriptiong List] ‘
i
Framework

(3) Gavimat Inscriptions

(4) Birat Inscriptions 0. UN Conference

B. COP-3
on Sustainable
Development
98. Identify climate change events with place
and timeline : c. REDD+ 111. Bali Action Plan

Year Event
D. Rio+20 IV. Kyoto Protocol

A. 1979 I.  Toronto Targets
Choose the correct answer from the

B. 1972 II. COP-7 options given below :

C. 1988 TIII. Stockholm Conference A B C D

v o1
D. 2015 IV. First World Climate 1 i

Conference, Geneva @ 1 111 v 1I

V. COP-21 @ I I I I
4) 1I 111 1 I\Y
Choose the correct answer from the

options given below :

A B C D 100. COP-MOP 10 pertains to

1 I \% v I (1) Nagoya Protocol

2 IV 111 I \Y% (2) Doha Protocol

@ v I v I (8) Cartagena Protocol

4) I 11 ! v (4) None of these
(45-C)
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